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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you
answer the questions.

Amnswers should be marked in the OMR Answer Sheet
using black ball point pen.

1. This booklet consists of 100 questions as follows.

1-25  Mathematics

26 - 50 Science

51-75 Social Science

76 - 100 Mental Ability Test

2. Each question carries one mark.

3. Since the time allotted to the Question Paper is very
limited, you should make the best use of it by not
spending too much time on any question.

4. If you do not know the answer to any question, do
not spend much time on it and pass on to the next
one. If time permits, try the questions which you
have left in the first instance.

5. Blank pages are provided for rough work at the end
of the Question Booklet.

6. Choose the correct answer from the options given
for each question and darken the corresponding
circle with black ball point pen in the OMR Answer
Sheet.

7. Handover the OMR Answer Sheet only to the
invigilator and the candidates are allowed to take
the Question Booklet with them.
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MATHEMATICS / &6emflgLo

The value of % - (1 — lj is :

6 4
5 5

M 5 2 75
7 7

G 5 @ 15

The perfect number is :
(1) 26 2 27
3) 28 “4) 29

If the radius of a circle is doubled, then the

area of the new circle will be :

(1) Same

(2) Two times
(8) Three times
(4) Four times

The number of terms in the expression

m2n2C .
1 1 2) 2
G) 3 4 0

The length of a log is 3a + 4b — 2 and a piece
2a—Db is removed from it. The length of

the remaining log is :

(1) 5a+3b—2 ) a+5b-2
3) a+3b-2 (4) 5a+5b—2

TR 4651

%—(1—%j -@ei Sl

6

5 5
M 5 @ 15

7 7
G o @ 15

1) 26 2 27
3) 28 4) 29

Q@ all L SSler rd @\ LBISTS
<dlsfggred darsgb yHw

UL gdlem LFliLeTe)] :

1) =G5 Serey
2 Qo wLBEG
(3) eparm OLBIE
(4) DBrENE, LkIE,

m’n’c ererm Gareneuuler 2 mili|sefler

CTETERT SN
1 1 2) 2
@ 3 4 0

@ LrésleLuler Herb 3a+4b—2.

SIS GHS 2a-b Harepeter @@
wrgarh besliLBSng erafld,
g peter wréslentuldes Herb :

(1) 5a+3b-2 2) a+5b-2
3) a+3b-2 (4) 5a+5b-2
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Which of the statement is wrong ?
(1) m?—n?%+3 is a trinomial
(2) a%b?+2b is a binomial

(3) 3x%y is a monomial

4) 4x7? -

i )\ ial
s is a polynomia

The sum of two numbers is 36 and one
number exceeds another by 8. The

numbers are :

1) 13,23 2) 14,22

3) 15,21 4) 12,24

The percentage of 6 hours in a day is :

3) 20 4) 50

If 35 women can do a piece of work in
16 days, in how many days will 28 women

do the same work ?

1) 22 2 21

3) 20 4) 19
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Qar@ssiul(herer gmpmsefler seu-
DTET Sl 6Tg)l ?

(1) m?-n2+3 eTaTLg @ CPE-
nitiys  Csrene

(2) a?b?+2b eTaTLIG (1 FR(HMILILIE
Carenay

(3) 3%y eratug @B @OBMULSG

Gareneu

(4) 42—

oy TOUE @0 ue-

miiLs GCsmeneu

@ra( eranrsaiier g 36 WHMID
SeuHmeT eff erewr WLHCHIT 6T
wareill 8 SHlab erafle, 2bHS
CTGUTSGT :

1) 13,23 2) 14,22

3) 15,21 4) 12, 24

@@ prefled 6 wentl CHIL 6remLISe

FFaisLb :
1) 40 2) 25
3) 20 4) 50

35 Ouamser em Coumeenw
16 priseflé Gelg gl erefle,
28 Quamser G Ceoumaeenwl
THSMET B satled ClFuig (plglium ?
1) 22 2) 21

3) 20 4) 19



10. A ladder of 20 feet length leans against a
wall at a height of 16 feet from the ground.
The base of the ladder from the wall is :
(1) 10 feet (2) 12 feet
(3) 14 feet (4) 16 feet
11. The highest power of x in the expression
3x2 (x4— 7x3 +2) is :
1) o (2) 5
@ 7 4) 4
12.  Which of the following will have 6 at the
unit place ?
(1) 192 (2) 112
3) 242 4) 132
7 3
13. What should be added to — 3 to get ?
L2 , 3
N Y y 2
®) 5 @4 5
14. The difference between two whole
numbers is 66. The ratio of the two
numbers is 2 : 5. The two numbers are :
(1) 6,60 (2) 33,100
(3) 44, 110 (4) 33,99
15. Product of 4p, —7q3, —7pq is :
(1) 196p>q* (2) 196pq*
() -19%p2q*  (4) —19%pq
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10.

11.

12.

13.

14.

15.

20 g Berparer oranfl senruladl(mbg)
16 211 2 WrsSled seuflenar QgmHiomm)
FTUSSH meusdsULL (HeTerg erela,
seup el Bhgl eremilufien g LGS -
wdleor FMyLd :

1) 10 =g @
() 14 oy @)

12 919
16 =j1q

3x2 (x*=7x3+2), erarm Cameneuudl e
X-6l 2 WMHS AHES :

1) o 2 5

®) 7 4) 4

ThS eUTEESIHem Henl & @Qe&s eramr
6 -60 (LPlgujbd ?

(1) 192 2) 112
(3) 242 (4) 132

—% 2 L G 6THS GTGTENENTS Snl_lq GOTTED

3
3 o
- FlenL&@LD ?

21 58
1) =g 2 5

47 50
® 57 @4 >

@uar® wWpp eravsetier NS wTFLD
66 LDHMILD 6Ll eraTaaten alldlgh
2:5 erafley, oibs Qe eraaer :
(1) 6, 60 (2) 33, 100

(3) 44,110 (4) 33,99

QuBE@&S. 4p, —7q%, —7pq
(1) 196p3q* (2) 196pq*
3) —19%p*q* (4) —19pq*

P.T.O.



16.

17.

18.

19.

20.

21.

Common factor of 17abc, 34ab2, 51a2b 16.

is :

(1) 17abc (2) 17ab
(3) 17ac (4) 17a’b’%c
If twice of one-third of one fifth of a 17.

number is 6, then the number is :

(1) 90 (2) 45
(3) 180 (4) 360
-5
The number e lies between : 18.
1 =2 ando
(1) 1 an
(2) —-lTandO

B3) —2and -1
4) -—5and —4

The number of digits in the square root of 19.

123454321 is :
(1) 4 (2)

3) o6 4)
5 —4 X
The value of x in % =57, 20.
5
1) 6 )
3 4 4)

The scientific form of 0.0000000002020 21.

1S :
(1) 2.02x10° )
(3) 2.02x10-8  (4)

2.02x10~9
2.02x10~10
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17abc, 34ab?, 51a%b -e Quing smyewnf :

(1) 17abc (2)
(3) 17ac 4)

17ab
17a2b2c

Q@ eranremilen Bhdled e LikIS e,
epeTMed e LImISlen @ LBIE 6
erefled, =BG eremT

1) 90 (2) 45
(3) 180 (4) 360
-5

vy GTEIT GTEwT Senw|d Gent_Cleuafl :
1) = whmb 0
4
@2 -1 om0
3) -2 wmmw —1
(4) —5 womibd —4

123454321 -@ 61 aUTEHS PSS @yleTerT
OGsHmIST 6T cTaRTanTSMS

1 4 2 5

@) 6 4) 7

-2 6T 6ol v X - &1
L :
1 o6 2 5
G) 4 @) 2

0.0000000002020 -@em  iMladlwe

GHUIE -
(1) 2.02x10° (2) 2.02x107°
(3) 2.02x10°8 (4) 2.02x1010



1 1
22, (10) exceeds (10) by :
11 11
n 4 P
5 12 o L
23. A boy planted saplings in his garden. He
planted x saplings, each with y rows, then
the total number of saplings planted is :
1) x+y (2 xy
(3 @4 v
24. If x and y vary inversely, find the constant
of proportionality when x=64 and
y=0.75:
(1) 32 (2) 48
(3) 16 (4) 50
25.  Which of the following is not a graphical
representation of the frequency
distribution for grouped data ?
(1) Histogram
(2) Frequency polygon
(3) Ogives
(4) Mean of the data
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22.

23.

24.

25.

1 1
<%@@J(mj-%$awL4@®

)
11 11

GTEUGUETE DHFHFHD ?

1 -1

M 37 @ 77
12 1

® 17 @ 10

fmeuen searepenlw CsriLgdle

LD I} & & 60T M) & 60 61T BL_L_ITT. 6T
gelbeur@m auflemsuligyd x wr&sen
nis6T eigid y euflengufled pLLmi erefle,

BLOULL Obrgs wrésern serfer

CTGHTERT SN
1) x+y (2) xy
(3) x¥ 4 v

x LHML ¥ YHwenes erdmommedled
2 Teren eTadlled, x=64 LHMID y=0.75
o Gurg oaldlgsw wrmedlen
ommledl :

(1) 32 (2) 48

3) 16 4) 50

ECp Qar@&siiuLl (HeTereaneusafla
Tmel sT@EHSSULLLS STesHEhs
sren Hlapblelem Lrelamed @mls@LD
cueTUL 6N6T&HSE (LPEnMm <{6bed ?

1

2

1) Hapeys CgFaieusid

2) Hapey LeGsTenTdD

(3) Gsr@ssuul L Blspe| eimeray
(4)

4) greysefler symefl

P.T.O.



26.

27.

28.

SCIENCE / gyflafliLied

Match the following :

(a) Automobile (i)  Torricelli
brake

(b)  Atmospheric (i) MoreFriction
Pressure

(c) Cycle (iii) Pascal Law

(d) Road roller (iv) LeastFriction

1) @ - (), ) - @) © - (), (@ - (i)

@) @ -Gv), ® - (), © - @), @ - 6

(B) (@ - (i), () - (v), () - @), () - (i)

(4) (@ - (i), () - @), © - v), () - (i)

Comb rubbed with hair gains

from the hair.

(1) protons

(2) electrons

(3) neutrons

(4) all the above

Assertion (A)
demagnetised by heating at high

Magnets can be
temperature.
Reason (R) : Freely suspended bar magnet

always aligns itself in the geographic

north - south direction.

(1) (A) is correct and (R) is incorrect.

(2) (A) is incorrect and (R) is correct.

(3) (A)iscorrectbut (R) doesn’t explains
(A).

(4) (A) is correct and (R) explains (A).
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26.

27.

28.

QUT(HE S5
(a) aursarsder (i) LmAHlgFa
CousgzsenL
(b) eueflbeare (i) <SS
&@ggjm o rmiey
() WiHeuamrig (i) UTEL&HE
9
(d) emenew 2 (mefl (iv) @Gewmeumer
o Triiey
1) (@ - (@), ©)- ), © - (), @ - ()
) (@) - (@), (b) - (i), (©) - (i), (@ - @)
(3) (@ - (), (b) - @), (©) - (), (@ - (i)
(4) (@ - (), b)- ) © - (), (@ - (@)
Flulenan (pssors Couls@EnhCLTS)
s (plq Uil hHa) FULGE
Geermed(Hdlemmg.
1) yGrriLenser

(2) eTe&Lyrerder
() Byl prerser
(4) Qe maTSgID

apm (A) : @06 sTHEEPS AdS
Qeuliuiblened@ 2 LI(HSHSD PLP@LD
DG &HTHSLI
Q&FuIwIeTLD.
sryewrd  (R) :
SThgLIerg eriblumipgin Lefuder
aL— Ogear dHewsaww GCrrsdGu
G

(1) (A) & LHmD (R) seu

) (A) seum LHHID (R) &

LTl Q) p&&s

Qgmrmised L

3) (A) #fl yarred (R), (A) -8
aerssaildrenew

4) (A) efl wHmL (R), (A) -8
erg@dmg



29. Pick out the odd one :
(1) structural system
(2) payload system
(3) combustion system
(4) propulsion system
30. Light enters our eyes through the :
(1) Optic nerve
(2) Ciliary muscles
(3) Cornea
(4) Retina
31. The temperature of a metal ball is 303 K.
When an energy of 4500 ] is supplied, its
temperature raises to 313 K. Calculate its
heat capacity.
(1) 300 JK~1 (2) 450 JK~1
(3) 400 JK~1 (4) 350 JK~1
32. A sound with a frequency below
is called as Infrasonic Sound
and a sound with frequency above
is called as Ultrasonic Sound.
(1) 20 Hz, 20,000 Hz
(2) 200 Hz, 2000 Hz
(3) 2000 Hz, 20 Hz
(4) 2000 Hz, 200 Hz
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29.

30.

31.

QuUTBHSTS epetterms CHITH6E(HESeLD.

1) sLLenwlily enoliL]

(1)

(2) uflF Few L]
(B) erflzed jenLiLy

4) Geausgib el

Rafl saraEnsGer EPEOLDTS
BInEITS).

(1) umrenal BFLDL

2) Sdlwlg sengser

(3) smrefwm

4)  efigdleny

@@ 2 Carsl unbdler GlelliLiblane
303 Glsavedler. oigm@ 4500 ] ojeTa|eTer
Qeutit Y mmed AefFslumHbGumg)
9ger deuliubleney 313 Clsaedler <5
o WmHEADG eratled, ser Gleulin
gHLSHmenars seaumsdl(hs.

(1) 300 JK~! (2) 450 JK~!

(3) 400 JK~1 (4) 350 JK~!

__________ -&@ Gopeurear ST
Qeuar Garar, gl GmHelmmedl
ereieyd, -y oL dls-
wrer oSlrteier Caram el
BQwmed ereveyld SempdsliLIhEng).

(1) 20 Hz, 20,000 Hz
(2) 200 Hz, 2000 Hz
(3) 2000 Hz, 20 Hz

(4) 2000 Hz, 200 Hz

P.T.O.



33.

34.

35.

36.

Which of the following is the working 33.

principle of rockets ?

(1) Newton’s First Law
(2) Newton’s Second Law
(3) Newton’s Third law
(4) All the above

Which one is not related to the property 34.

of non-metals ?

(1) Non-ductile

(2) Malleable

(3) Dull appearance
(4) Non-sonorous

Match the following : 35.

(a) Silica (i) Caustic potash

(b) Potassium (ii) Sand
hydroxide

() Sodium  (iii) Calamine
hydroxide

(d) Zinc (iv) Caustic soda
carbonate

1) @ - @), © - @) © - @), @ - ()

@ (@ - () b) - @) (©) - (), (- (i)

(3) (@ - (@) (b)- (), (© - () (- (i)

(@) (@)- @), (- @), © - @) @ - @)

When an excess amount of CO, is passed 36.

through lime water gives

(1)  Ca(OH), (2)
(3) CasN, (4)

CaCO,
Ca(HCO,),
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EpsasaTcupiled Tré6Eigd Liwien
LB SSFI6UD 6TG ?

1) Pl wse oF

(2) Byl Lefler @rewreug 48
(@) Byl Lefler eparmreug edls

(4) Qe SmaTSgID

Epsasant_auniler ergl Carsnigaflen
LIGRTL| <Sj6be) ?

(1) sLYWTS LTHD (LPiGUTSF)

2) S&LIT& LOMMHDHETLD

(2)
(3) weruerlipm CgTHMLD
(4)

4)  eedl er(pUILITg)

QurmSSI5.

(a) Selssm i)  erMum’-

L T6ig

(b) Qumrliorflud (i) wewred
ManL_FT&He&(h

(c) Gemgwibd (i) STLELOGT
manL_Frésens(h

(d) s55BTS (iv) erMGamm
srruGer

Q) @- @ b) - @), © - (), ( - ()

@ (@) - (@) ) - (), ©) - @), () - (i)

(3)  (@)- (i), () - (v), (©) - ), () - (i)

@) (@ - @), ©)- ) © - () @ - [

saantridy Bfled dlaerey sriLier
oL Yysmmsml CesgbCLTg)

2 (Heumeug) :
(1) Ca(OH), (2) CaCO,
(3) CasN, (4) Ca(HCO,),



37.

38.

Assertion (A) :
liberates SO, an acidic pollutant.

Burning fossil fuels

Reason (R) :
prevented by neutralising SO, with

Air pollution can be

powdered lime or lime stone.

(1) Both (A) and (R) are correct

(2) Both (A) and (R) are wrong

(3)  (A) is correct but (R) doesn’t explain
(A)

(4) (A) is correct and (R) explains (A)

Find the incorrect pair.

(1) Temporary - carbonate and

hardness bicarbonate salts
of calcium and

magnesium

chloride and

sulphate salts of

(2) Permanent -
hardness
calcium and

magnesium

(3) Soft water - dissolved salts of
calcium and

magnesium

(4) Hard water - forms thick
precipitate of

scum
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37.

38.

gapm (A): Hens Liigel erflCummLlser
aME&sLuBLCUTg WlesSe6men LD
W&&  FeoUl el
QeualudlHdmg.

sryewrd (R) :

D, EMFE L

FOUT L Y &ma(h
SEUTETITLDL|S GIT6T HEDEVSG| F6u0TeuT TLOL|S
shemers Csream(h BhHBlamowrsEsL
LOLCUTg srHm wrE&UTH SHESL
Lh&mg).

(1) (A) opoID (R) &l

(2 (A) wpmd (R) seim)

(3) (A) &fl yarmed (R), (A) -8

aNeTsse90emew

4 (A) sfl wpgd (R), (A) -
ellers G mg)

QUTBHSTS @)NETENLIS SHeuTL_Hls.

1) sHaredls -  sTOFwL,
Flg S Qs etélwg e
SEMEMLD smiuGer
LOHMILD
anu-gmruGer
o LIL|&6rT
(2) Hrbsr - srOSw,
&g T Qo efélwg e
SETENLD &CGarranty(H
wHmIbd FOGUL
o LY&arT
3) Gweratm - 20196 sorbHS
STOF WD HmID
Q&etdwiLd
4) sgear T -  EoTsE uSors
GVSLD Lllg 6]
2 (IH6UTSeD
P.T.O.



39. Find the odd one out.
(1) Acetic acid
(2) Malic acid
(3)  Sulphuric acid
(4) Formic acid
40. The unit of specific energy :
1 JK (2) Jkg!
(3) Kkg! (4) kgK
41. The enzyme present in Apple cells :
(1) Tyrosinase (2) Lipase
(3) Zymase (4) Amylase
42. Match the following :
(a) Paramecium (i) Parasites
(b) Euglena (i) Pseudopodia
() Amoeba (iii) Flagella
(d) Plasmodium (iv) Cilia
1) (@) - (), (b) - (i), (c) - (i), (d) - ()
(2) (@) - @), (b) - (i), (c) - (i), (d) - ()
(3) (@ - (i), (b) - (i), (c) - (v), (d) - ()
4) (@) - (), (b) - (@), (c) - (@), (d) - (i)
43. that lives in the human
intestine helps in digestion of food.
(1) E.Coli
(2) Lactobacillus acidophilus
(3) Nostoc
(4) Rhizobium
TR 4651
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39.

40.

41.

42,

43.

QuUTmBESTSDSS CoHITH6lS(H &S LD.
1) <Fligs odleod

(2) wrells odled

(B) sy Ms lebd
(4)  ourmig led
H6t1 A, HHENGT DD
1) JK ()
(3) Kkg™! (4)

Jkg~1
kgK

< U96T CQFevgatiey 2 6Tem eremendLd :

1) eLCrrelGearev (2) eneliGuev
(3) eaCoev @) SienwGaev
QUTHSSIS.
(@) urBfwub () el (Haraisdr
(b) waetlerm (i) Cumrels sras6T
(© <Bur (i) semsulenip
(d) Aermev- (iv) Hedlwm

Comig witb
M) @ - @), b - i) © - @) @ - 0
@ (@ - @), ©)- @) © - i) @ - 0
G) (@ - (i), O - (i), © - (), @ - 0
@) (@ - (@) ) - (), © - (), ( - (i)

wallgs GLele aurud Ceflorears

@ 2-sa|b urseflwm :

1) er.Garene

(2) ersGLrurdleoev H&GLT-
o oL9leveN

(3) mBreLL TS

4) eyGemlwid



44. The fungus, Ashbya gospii is used to 44.

produce __
(1) Vitamin A
(2) Vitamin C
(3) Vitamin K
(4) Vitamin B,
45. Match the following : 45.
(a) Blue green (i) Phaeophyceae
algae
(b) Green (i) Rhodophyceae
algae
(c) Brown (i) Cyanophyceae
algae
(d) Red algae (iv) Chlorophyceae
1) (@) - (i), (b) - @), (¢) - (i), (d) - ()
(2) (@) - (v), (b) - (i), (c) - (i), (d) - (@)
(3) (@) - (i), (b) - (), () - (@), (d) - (i)
4) (@) - @), (b) - (iti), () - (@), (d) - (i)
46. Pick out the incorrect sentence : 46.
(1) Sclera is known as the “White of the
eye”.
(2) Conjunctiva keeps the eyes moist.
(38) Cornea is the transparent layer of
membrane.
(4) Themainrole of the pupil is to refract
the light that enters the eyes.
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g aur Gsrevl erery L @hens

2 Heurssll LweruhdHng).

(1) eeulL1Oem A

(2) eeulLler C

(3) eeulLwler K

(4) eweulLLllem B,

QUTHSSI5.

(a) Beodusbd (1) GCuCur.emud
LIT& &6

(b) uwdemels (i) CrrGLm.emud
L&l g6

() uwmuyl (i) enswGers.enLisl
LTSl &6

(d) Seulyd (iv) @&CerrCrme.enLis)
LIT&l &6

M) @ - (i), (b) - @), © - (i), (@ - @)

(2) (@) - (i), (b) - (iii), (c) - (i), (d) - (1)

3)  (a) - (i), (b) - (iv), (¢) - (i), (d) - (ii)

4) (@) - (@), (b) - (iii), (c) - (), (d) - (i)

seuprer gmpeannd CsmHols(H&se .

1)

evdlaflyr e PlGeuafliLiL_eib
creriLi(H & rg).
SEUTEHET  FFFLOTS e LILIG)

&GHDGIQ AUT G LD.
ellpleiaTUL b ¢afl 26r(h -
(Mmajd CHmedLIL D < @HLD.
aflenw eflevgeamLwg CFuiag
samuTemeuler WpaEw Lenf

A GL0.

P.T.O.



47.

48.

49.

‘Pleura’ is : 47.

(1) the muscle that separates the chest

cavity from the abdomen.
(2) the smallest unit of measurement.

(3) an organism having distinct nucleus.

(4) the protective covering of the lungs.

is known as ‘Diarthrosis 48.

(1) Pivot Joint
(2) Ball and Socket Joint
(38) Synovial Joint

(4) Gliding Joint

Azadiractin is obtained from . 49.
(I) Neem (2) Margosa
(3) Coconut (4) Legume
__________ is  responsible  for 50.

co-ordinating agricultural education and

research in India.

(1) CIAR (2) AICR

3) RCIA (4) ICAR

TR 4651 14

‘LiemTT eremgy)

(1) wriumpeWWL alulilhHenmuyb
Gf&@L saes.

(2) Wss AP QF A0S

(@) Gsefleurer o L smeneu GClgmem
2 uilflerib.

(@) meruremol UMEST&EE@GD Fela,.

e -2 r5Crrélen epl (B
T mp&SLILIH S TS
(1)  ener && epL(h
) upgl Samenr el (
() &Carmmaiwed el (h

4) auwss b

&Tgr&lgen Cambomeng)

alenguledlmmbg QupLiLGSDng.

(1) CGeutby (2) wrrGsram

GeanLd

(3) Cgmgm (4)

edleugmwd &riBs &Heved LHMID
QY TTLEFSGmer 6 (HE &l enenrd @D

@Bl el :
(1) CIAR (2) AICR

(3) RCIA (4) ICAR



51. Find out the incorrect pair/pairs.
(a) British East India - 1600 A.D
Company
(b) United East India - 1602 A.D
Company of
Netherlands
(¢) Dutch East India - 1616 A.D
Company
(d) French East India - 1664 A.D
Company
(1) (b)only
(2) (c)only
(3) (a) and (d) only
(4) (a) and (c) only
52. Pick the odd man out :
(1) Louis XIV
(2) King John II
(3) Christian IV
(4) Colbert
53. Arrange the following events in the
chronological order :
(a) Battle of Wandiwash
(b) Battle of Buxar
(c) Battle of Ambur
(d) Battle of Plassey
1) (©, (@) @), ()
2) (@), (), () (d)
3 (© @), (@), (b
) (d), (o) (b), ()
TR 4651
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51.

52.

53.

QUTHBSTS @) 66wt/ 3) 6n 6w en 6 S
Caib0ls[H&EHea|LD.

(a)

(b)

(1)
(2)
(3)
(4)

EAR S - &9 1600
Hp&HHH s
&6l L
QBCsTMHg
oG WS

- &9 1602

S p&dbSlwis

&0 Le

L&& Slpsdlpdwus - S 1616
5106 L6
19NClT@epa
Hp&HHH s
&0 L6

(b) L @b

- &9 1664

c) L (Hbd
a) womid (d) i (Hib

(
(@)
() LODIL () LD

QuUTBHSTS epaiterms CHTHGE(HESeLD.

1)
(2)
(3)
(4)

Ldlemmersmd eullen
LDGITEUTIT (@)TEUTL_ITLD 8o manr
BIesmDd &l mlevig e
STOLITL

Gereumd  Hlspeysamer &redlro

auflenagliLig CarB0gH&s6 .

a)
)
<)
)

3

R

3

(
(
(
(
(
(
(
4

)
2)
)
)

euhg eursl Guimr
Lgemt Gumr
<t Gumr
Wermdla Guim

@, @, (@), (b)

(@), (b), (c), (d
(©), (a), (d)
(d), (c), (b), (a

(Y

(o

~

N
—
=3

N N N

P.T.O.



54. Identify the two provinces where 54. @nBdlureilledr  ymHCawrsermed
Ryotwari system was introduced by the @ruseirtl wem SMWPsL LHSSL
British in India. Ul @rar@h @b wLnmes et -

SETE ST

(1) Central India and Punjab (1) wsHwu @BHwT wHMID LEHSFTL
(2) Bihar and Orissa (2) UYsrim womd efler

(3) Bengal and Uttar Pradesh (3) eumsTerDd OHMID 2 SHTArCssLd
(4) Madras and Bombay (4) WSITEL WOHMILD LIDLIMWI

55. Identify the two commissions which 55. @bHlureler seell cueTi&slsE@ 2 mi-
contributed to the cause of education. gparirgs @MmbS @Qrar®h el

G(P&FHmeTd &HILIA[HS.

(1)  Dr. Radhakrishnan and (1) LmsLi Qrrsrslmegenter LHmid
Dr. D.S. Kothari Lr&Lr D.S. Gamgmil
(2) Rajaram Mohan Roy and (2) @rregrymid GrseTyml wHmib
Pachayappar of Madras wgrredlen LFEFWLILIT
(3) Charaka and Sushruta (3) &UST OHMILD &&HHST
(4) Sarafoji Il and Raja Jai Singh 4) @uewrmb grGuTell HMID Fregm
Cleguilm
56. Madras was officially renamed as Chennai 5. -@eb DSTTEN gc,] STy -
on : LTeulors GClFerenar erer m 6L
@il Lg).
(1)  15th August 1947 (1)  <psevl 15, 1947
(2) 17t July 1996 (2) K9o® 17, 1996
(3) 26 January 1950 (3) mereufl 26, 1950
4) 23 April 1995 4)  eliyéd 23, 1995

TR 4651 16



57.

58.

Assertion (A) : Free trade policy
followed by the East India Company
compelled the Indian traders to sell their

goods above the market prices.

Reason (R) : This

craftsman to florish with their ancestral

forced many

handicraft talents.

(1) Both (A) and (R) are wrong.
(2)  (A) is correct but (R) is wrong.
(3) (A) and (R) are correct and (R) is the

correct explanation of (A).

(4) (A)iscorrectand (R) is not the correct

explanation of (A).

The traveller visited India during the reign

of Mughal emperor Shah Jahan was

Bernier
Hiuen-Tsang
Fahien

Edward Baines

is used for recording

continuous variation in atmospheric

pressure.

(1) Barometer

2 Aneroid Barometer

)
(2)
(3) Barogram

(4) Beaufort scale

TR 4651
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57.

58.

59.

gahm (A) : Slpsdbldwur sbueilwme
erupolinl L senLulever eurenfliig
QameTens, QMBS UTSSETHET HhIGET
QumrLlsemer FHang allanad@ Coeb
ellhs s LmuliubhsSwug).

sryentld (R) : Qg Lo engellenanehmaer
SHIGET epsTanswiseflLd sHo
angaileneang Smengener GobLIhGS L
2 Fellwg.

(1) (A) wpmid (R) s6um)

2) (A) sfl, <pemme (R) seum

(3 (A) wHDID (R) &, LOMLD (R), (A)
- dlersEéng)

4)  (A) &fl LODID (R), (A) - eflard
Hdleven ey

agresmen <l Sluller Gurg @mbdluwir-
eilh@ eumensLfibg Liwewf :

1) Qureflwmr

3)  oelmablwime

(1)
(2)  WoUTEI&6U Tk
3)
(4)

el auif® @Quudena

auall el (PS5 CeumuimienL

Ldlay
LwerUhS mg).

QargdwmsLl Q&ww

(1) srHDPSSLorefl

2) <&flrmu® sTHHWSSLoTe
(3) sTHPWSEL LSleisse

(4) WGCwrGumrr(® eTenau

P.T.O.



60. Absolute humidity is expressed in : 60.

(1) percentage (2 g/md

(3) kg/sq.cm (4) mb

61. An example for the formation of 61.

metamorphic rock from sedimentary rock.

(1) Sandstone into quartz by thermal

metamorphism

(2) Basalt into slate by thermal

metamorphism

(3) Granite into gneiss by dynamic

metamorphism

(4) Slate into shale by dynamic

metamorphism

62. “Backwash effect” is related with : 62.

(1) Demographic consequences
(2)  Social consequences
(3) Environmental consequences

(4) Economic consequences

TR 4651 18

2_GUTENLOWITE FFFLILIGLD -e»
G ELANEIGENLES]
(1) &saisb (2) &/

(3) &.8/5.085 (@) mb

Uigeyls urenmudedlmbg 2w mdlwl
LUTenD&E T(HSSISSTL(H

(1) Qoeuliu 2 (HLOTHDSSETTE DEwTH
UTen&er Ol nLTenm W TS

2 (HLOMTMISE.

(2) Geuliu 2 (HUTHDSIHETTE &(mHbI-
SO LMD Lansll LTennWTs

2 (HOTMISE.

(B) Quss o (porHDSSerme Slim-

METL LITenM enBHe) LITenmUITs

2 (HLOMTMISE.

(4) Qu&s o (HLTHNSSlerTd Liw-
MSL LMD LTSS LITeODHUITS

2 (HOTMISE.

“oplejari CQeuellGumm elenere]”
o Lam QgriyenLuig).

(1) w&s6er Usreans aleneTe|seT
(2) seps clenereser
(B) &HMEF G elleneTedeT

(@) Qummerrsry ellenere|ser



63. Choose the wrong statement/statements : 63.

(a)

(1) Statement (a) and (b) only
(2) Statement (b) only
(8) Statement (b) and (c) only
(4) Statement (c) only
64. is nick named as the “Mother 64.
Continent”.
(1) Africa
(2) Australia
(3) Asia
(4) Europe
65. Find the odd one out : 65.
(1) Maitri
(2) Dakshin Gangotri
(3) Mcmurdo
(4) Bharathi
TR 4651 19

A cyclonic storm is a strong wind
circulating around a low pressure

area in the atmosphere.

Cyclonic storm rotates in clockwise
direction in northern-hemisphere
and anti-clockwise direction in

southern-hemisphere.

Tropical cyclones are more common

in the regions of deepest sea.

SeUMTar dapm/smpmsmers Csib

Qg [H&S6LD.

(a) euaflba@T_@sdled GMDHS STH
DPESL UGHsaid  spgiD
auadlenwrer sTHCH @GHmmreuafl
Lwied &mhml eresriiLi(hib.

(b) @Goretedl Lwed STHM el
SMTECHTTSI D STy Flang-
Wi, Qgen Sjenys Camersdled
I HiqHTyr SevsFuled siped
Fwg).

() Geulin wewLe @oreuetser
2L LPLOTET HLeLIGS St ed smemrL
LhSmg).

(1) spm (a) LOMD (b) LD
(2) &pm (b) LB
(3) Fmpm (b) HMID (c) LB
4) g@mbm () LB

“gml SerLb” erer LerlGuwifll ()
SNDP&E&LILI(HEUG)
1) < UuafssT

2) = endCredlwm

(2)
(3) < dwr
4) gCrmiumr

QummbsTs amns Carhls®.

1)  enwsl

(1)

2) sl Sler smCarsil
(3) GwsuprGLmr

4) urpgl

P.T.O.



66. Shallow water bodies are represented by
colour.
(1) Yellow
(2) Brown
(3) Light blue
(4) Dark blue
67. Choose the correct pair/pairs :
(@) Governor - Approval of

(b) Chief Minister

money bill

Policy decisions of

the State Government

(c) Legislative - Temporary house
Council

(d) Legislative - Members are elected in
Assembly directly by people

68.

(1) (a) and (b)
(2)  (b) and (c)
(3)  (c) and (d)
(4)  (a) and (d)

The Indian Citizenship Act was enacted

in the year :
(1) 1956 (2) 1950
(3) 1947 (4) 1955

TR 4651

66.

67.

(@) <A@pBT

Gophs  Hruugdee

QUGTERTLD epeUd G MIL

<, PLD

GLtiu@dpg.

(1) wEpser

(2 uwly

() Qeuafli Hevid

(4) oL Beold

sflurer @anent/@emansamers CsHib
Oz (H&s5aLb.

- Uemt GFTST UILS6

(b) (WPSOMWLFST - LOTHIL STETHISSS6m

(c) FLL LG

CasTeTens (Lplg-e e

- SHSTOIE el

Coeane
(d) slLemm - &L D&M
Cureneu o mtikberrger

68.

WéserTe) ChyiquITs
CaibOsHEHLILHS®.
(1) (@) wpmid (b)
2 () LHmD (o)
(3)  (© wpmd (d)
(4) (@) womid (d)

@pdu Ggufewssl L b @unHmLl
UL ypemor(h ¢

1) 1956 2) 1950

(3) 1947 (4) 1955



69. The temple with Hindu spire, a Jain cupola,
a Buddhist stupa and Muslim style dome :
(1) Golden temple
(2) Khajuraho temple
(3) Kailasanathar temple
(4) Konark Sun temple
70. is known as the modern
International magna carta of Human
Rights.
(1) The Universal Declaration of Human
Rights (UDHR)
(2) The Habeas Corpus Act
(3)  United Nations Charter
(4) National Human Rights Commission
(NHRC)
71. The Indian Constitution Article 24
(1) provide primary education for all
children until they complete the age
of six years
(2) provides for children to develop in
healthy manner
(3) prohibits child labour
(4) provides free and compulsory
education to all children aged six to
fourteen years
TR 4651
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69.

70.

71.

@ng uremilufleorer CamLybd, Fwewt
H&s evgnd  wohmib
@everslw Lreniludeorer @eNorL b

edlg e,

g Hwaihpen CarTer(h enwdHssLl
Ll (herer @bg Csmelled

1) Gumn Cesrede

2) sgerrGanr Garelle

(3) MGLTERTST YEWID

(4) Casremrids @Mlw Csmeadled

, waflg 2 fewseafler paler

&r’r@_l@g,& LDETETEFGID TG HENLPES L]

LS DG

(1) wellg o famwEERESTET 2 60-
serredlw imleldlliy (UDHR)

(2) Gaplwev sTiLey FLL b

(B) @&Hwu prhser FepLudlen srFen
FLL LD

4) GCsdlwu wefls
< ementd (NHRC)

o flemwa&er

@Sl SrflweenoliL) s 9 fle] 24
FaMieug) :

1) 6 awg admf JADOAS5FH
GRHOSHEHSGID TS H6f
GULpTRI G

2) Crrsdluwrs GUHmSSET

auemy aufleuens CFieug)

B) Guboss CAsmfeeri pameni
sanL_OFlieug

(4) 6 auwg (e 14 auwig eueny
IAMEASS  GLHMSEEHEGLD

Qoals HULTWLS &6l euLpmEI-

&S

P.T.O.



72. 1075 is the national helpline on :

girl child abuse
corona virus
child marriage

dengue fever

73. A denotes :

Right reverse bend
Left hand curve
Left reverse bend

Left hairpin bend

74. Choose the incorrect statement about

public sector.

(1)

Public sector ensures the proper

wage of workers.

Public revenue depends upon levy of

taxes.

Ownership is with Government.

Public sector allows huge wealth to

concentrate in rich people.

75. Find the odd one out.

(1)

TR 4651

Standard of deferred payment

Store of value
Mutual funds

Transfer of value

72.

73.

74.

75.

22

Coaflwu 251 Ggemeu erewr 1075
@Ploug) :

(1) GQuear@whans aueTtlsr(Hhenio
(2) GarCrrarm eeurev

@) ©ebos Emward

(4) QLBIES sTuFFd

A aisflemas @MHLTag
"B GHEGD.

(1) eeg erdirdlmuuLb

(2 @LUUSS cumeTay

() Qs adi dooun

4) @Lg CsrawenL 2afl cuenerey

Qurgs gienm BHlmeuearmiger LbHOlw

gseupren gapanms Csibols[H&seLb.

(1) Gdgrfleoreris @ wpenmuwlmer
sarflusens 2 mid CsSmg.

(2) Qurg eumeurwirearg NH&@L0
aufllflenss QUITMISSS).

(@) Qurgs gienm BHlm e erhisertl er
o flenWrerg SrsrmissSSL b
2 _GITeg).

4) uvewssrriseflb QUMD Gl&e

USMSS G616 @SS MF.

QurmBsTnsS CoH0S(H &S LD.

(1) erdlisreo Cequssaissrear Hleanea
S

(2) wdluler Hlenevgaven.

() urevur Bl

(4) wrHm oL



MENTAL ABILITY TEST / wer&&metr Gsiiay

Directions (Q. No. 76 to 81) : Find the missing aullapenmser. (69616501, 76 - 81) : Geimeu(HLD
number/letter in the following sequences. OQgri eflepsller eNHULL  eramr/

T(PSGIHHMET HevT(H19lq &6 L.

76. 17,12, 18, 11, , 10, 20, 9 76. 17,12,18,11, _ 2?2 ,10,20,9
1) 12 @) 19 1) 12 2) 19
3) 22 4) 14 3) 22 4) 14
3] 3]
3] 3]
77. [4]4]36]5]4] 77. |a]a]36|5]4]
? ?
5 B
1 9 @) 11 1) 9 @) 11
3) 14 4) 17 3) 14 4) 17
6 4 6 1 4
b @ @ D @ G O
0 2 0 7 2
1) 102 2) 98 (1) 102 2) 98
3) 65 4) 56 (3) 65 4) 56
) - o0
1) 20 2) 18 1) 20 2) 18
3) 16 4) 15 3) 16 4) 15

TR 4651
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80.

81.

82.

83.

84.

ZY, AB,XW, _? VU, EF
(1) CD @) TS
3) DE (4) SR
CA,HF, _? ,RP,WU

1) 1] 2) MK
3) PN 4) TR

Find the next number of the given series
8,11, 10, 13, 12, 15, ?

1) 17 2 21

3) 16 4) 14

If A=12 and B=22 then A?+2AB+B?="?

From the letters of the word
“SECRETARYSHIP”, the word which

cannot be formed is :

(1) CREATE (2) PARTY

(3) YESTERDAY (4) TEAR

TR 4651

80.

81.

82.

83.

84.

ZY, AB,XW, _? VU, EF
(1) CD @) TS
(3) DE (4) SR
CA,HF, _? ,RP,WU

1) 1J 2) MK
(3) PN 4) TR

Qarhssiul_(Herer Cgrreflengudle

2A(HSGl GU(HEUG) eTeen ?
8,11, 10, 13, 12, 15, ?

1 17 2) 21
(3) 16 4) 14
A=12 wppmibdb B=22  eafe®

A?+2AB+B2="?

“SECRETARYSHIP” ereiim eUTT&Hens -
Welerer erpsgissamer ol e (h
Yereumbd  ThHS

2 (heUM&GS @uwieng| ?

QUTTS 6N S 6N ULl

(1) CREATE (2) PARTY

(3) YESTERDAY (4) TEAR



85. From the letters of the word 85.

“ADVENTUROUS”, the word which can

be formed is :

(1) ADVERSE
(2) TORTOISE
(3) NATURAL

(4) NUMEROUS

86. Find the combination of numbers which 86.

form a meaningful word.

87. Arrange the following words in an 87.

alphabetic order and select the correct

sequence.
(@) spell (b) square
(c) squid (d) speak

TR 4651 25

“ADVENTUROUS”, ereaim aUlTens -
wieiererr eT(Lpdgisemend lgmanT(h Yeor-
QU(HLD 6THS UTTEHMGE U 2 (HeUTEHS
Quigd ?

(1) ADVERSE

(2) TORTOISE

(3) NATURAL

(4) NUMEROUS

DTS (PETET UTTSMSEUI 2 (HheU TS
G cransailer euflanganws Carp
Qg [H&S6LD.

L N C I E P

1 2 3 4 5 6

M 6 2 3 5 1 4

EC Qsr@Esiiul_(HeTer aumisans-
saner sy auflensliL(®ss sflwmer
auflengenis CaibEs(H&SaLD.

(@) spell (b) square

(c) squid (d) speak

P.T.O.



88. Choose the one which is different.
(1) Radio
(2) Television
(3) Scanner
(4) Telephone

89. If AT=20, BAT=40, then CAT=?
(1) 30 (2) 40
3) 50 4) 60

90. Two persons starting from the same point
walk in opposite directions and each one
is travelling 15 kms. Then one of them
turns to his left and walks 15 kms, while
the other turns to his right and walks
15 kms. How far are they from each other
now ?
(1) 15 kms (2) 45 kms
(3) 30 kms (4) 60 kms

91. Pointing to a girl, Ravi said “she is the only
daughter of husband of my mother’. How
is the girl related to Ravi ?
(1) Sister
(2) Grandmother
(3) Daughter
4) Wife

TR 4651
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88.

89.

90.

91.

Caumiu L gatenmd Coib6ls(H&SeLD.

(1) eur@ermedl (Radio)

(2) Ogrevessrl &l (Television)
(3) @@ BES (Scanner)

(4) OgrepewGudl (Telephone)

AT =20, BAT =40 erafléy CAT="2
1) 30 2) 40
3) 50 4) 60

Qram® puisdr o Ueretluildlbhg)
B Uwearseng erHerdlim dHengudled
Qg TGS priger. @meumn 15 &.15
pLBs UnG @@em GLiypors
bl 15 .15 L (B, wHEmmmeu
aueliporss bl 15 &S L (b
BLEHMTTSET cremed, sHGLTE @) (-
UMEGL GenLCwujerer FITD 66

eUeTe] ?

(1) 15 &..8. (2) 45 &..6.

(3) 30 &l.15. (4) 60 &.15.

gedl  ereLieUT  eH Ol LIckTen 6w

GO 66T eTameenl i <L
wreller seweu®H&EE @Cr &6t
TSI MEDTT. AHS Ol LIewram & ELWD
TedlG@GD 2 6TeT 2 D6 |Lpenn 6remen ?

1) smms
(2 wuriig
(3) wsar

4) weerad



Directions : (Q. No. 92 to 94)

50

Ia

In the given figure rectangle represent the class
comprising of 50 students, square represents the
students playing chess, circle represents cricket

and triangle represents football.

92. Number of students playing both chess

and cricket :

1 17

3) 10

93. Number of students who donot play any
games :
1 8 (2 21
3 13 4) 18

94. Number of students who play cricket
only :
(1) 30 2 17
3 3 (4) 10

TR 4651

auflpermsar. (e9.616v1. 92 - 94)

50

7%
5\

Qarhassiul(hearer ULSHe GlFelels-

rerg 50 wrewrelfgEer CsTamL ¢
augleus GN&HDG. FHTD FHTHI&D
aleeTwimr(Hd  eIFTsemerud, eULl_L D
HNG0s. elemerwimr(Hid eIFT&Heneruyd,
W&Carantd sTOUBSE edleperw (L6
semaTd GH&HDg).

92. sgTmSD LHHL HMGCs @ Fer
L edleweTwmrhuelrsaflen erar
awflsens

(1)

(3)

17
10

93. erhg edlenerwrlenL b edlenemwims

QUGG 6T GTEHTET SN

1) 8 @) 21
3) 13 4) 18
94. HMsCas L H lewerwr(ueufler
CTERTGT S0 :
1) 30 @) 17
@) 3 4) 10

27 P.T.O.



Directions : (Q. No. 95 and 96) auflpenmsar. (6d.616501. 95 LOHMID 96)

Select the figure which completes the given Qar@é&siul_(perer grflenar Hlenmay
series. Qb UL Smss CaibolghdseLb.

D0 2| | LD 2

‘ -

96. * 96.

(3) 4) ®) (4)

TR 4651 28



Directions : (Q. No. 97 and 98) aulflpemaer. (69.616501.97 OHMID 98)

Find the missing figure in the following picture. QarhssiulL ULsdHe alhulL UL
Henerr Cxihols([H&ESH .

?

?

97. [ — 97.
1 |= 2 |— 1 |= 2 |—
@ |= @4 |= ¢ |= @4 |=
(1) 2) (1) 2)

) @) @) @

TR 4651 29 P.T.O.



99. Find the mirror image of : 99. PR — GTGILISET SHE0Tamiiy. QL

PR
(1) Rq 2 a9 (1) Rg (2) a4
3 9dr 4 P4 () 9dr 4) P4
100. Find the water image of : 100. 75 - GrGTLIGEN Gesrewim LADLID :
75
1) 57 (2) <5 1) 57 (2) <5
() a2 4) w2 () a2 4 T2

-00o0- -00o0-
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FOR ROUGH USE (Not for evaluation) /
Sie| aremib UGS (ST 19nE 2L UL 56060)
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FOR ROUGH USE (Not for evaluation) /
Sie| astepib UGS (LHIT 19nE@ 2L L1 F6ev)
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